

(a)  $y = \ln\left(\frac{e^x}{\sqrt{x^2+1}}\right)$  use of proper ties to simplify before differentiating (b)  $y = \ln(4x)(\cos^{-1}x)$ (12) Find the derivative of each of the following functions and simplify: (4 pts each)  $y = \frac{4}{4x} \cos^{-1} x + \ln(4x) \cdot \frac{-1}{\sqrt{1-x^{2}}}$ there is an easy approach)  $y = lne^{X} - ln(x^{2}+1)^{1/2}$  $y' = \frac{(05X)}{x} - \frac{\ln(4x)}{\sqrt{1-x^2}}$  $\chi - \frac{1}{2} en(\chi^2 + 1)$ y'= 1 - + - - 2X can also do part (a) directly:  $\frac{e^{x}}{\sqrt{x^{2}+1}} = \sqrt{x^{2}+1} = \sqrt{x^{2$  $y' = 1 - \frac{x}{x^{2} + 1}$ VX1+1 VX1+1 e - e + (X2+1) (2x) y2+1  $\frac{x^{2}+1-x}{(d) \quad y=x^{\sqrt{x}}}$ (c)  $y = e^{\tan^{-1}(5x)}$ Iny=lnx  $y' = e^{\frac{1}{4}an'(5x)} \frac{1}{4x}(12n'(5x))$  $y' = e^{\frac{1}{4}an'(5x)} \frac{1}{4x}(12n'(5x))$  $y' = e^{\frac{1}{4}an'(5x)} \frac{1}{1+(5x)^2} \frac{1}{4x} 5x$ lny= VX lnX - y y = = = enx+ vx = !  $y' = \frac{5e^{ten^{-1}(sx)}}{1+25x^2}$  $y' = y\left(\frac{\ln x}{\pi x} + \frac{1}{\sqrt{x}}\right)$  $y' = x^{x} \left( \frac{exx}{2\sqrt{x}} + \frac{1}{\sqrt{x}} \right)$  $y' = x^{x} \left( \frac{exx}{2\sqrt{x}} + \frac{1}{\sqrt{x}} \right)$  $y' = x^{x} \left( \frac{exx}{2\sqrt{x}} + \frac{1}{\sqrt{x}} \right)$ 

(13). Find 
$$\frac{dy}{dx}$$
 if  $y^{2} = \ln(x^{3} + y) \cdot (6 \text{ points})$   
IMPLICET differenties then  
 $\frac{dx}{dx} = y^{2} = \frac{d}{dx} - \ln(x^{3} + y)$   
 $2yy' = \frac{d}{x^{3} + y} \frac{d}{dx} (x^{3} + y)$   
 $2yy' = \frac{d}{x^{3} + y} \frac{d}{dx} (x^{3} + y)$   
 $2yy' = \frac{d}{x^{3} + y} \frac{d}{dx} (x^{3} + y)$   
 $2yy' = \frac{d}{x^{3} + y} \frac{d}{dx} (x^{3} + y)$   
 $2yy' = \frac{d}{x^{3} + y} \frac{d}{dx} (x^{3} + y)$   
 $(x^{3} + y)^{2}yy' = 3x^{2} + y'$   
 $y' = \frac{3x^{2}}{3x^{3}y^{3}y^{3} + 2y^{2}y' = 3x^{2} + y'}$   
For  $y' = 2x^{3}yy' + 2y^{2}y' = 3x^{2} + y'$   
 $y' = \frac{3x^{2}}{3x^{3}y^{3} + 2y^{2} - 1} = 3x^{2}$   
(14) Find local extrema values for  $f(x) = x \ln x$  Classify as max or min. Show how you know it is a  
max/min.  
Find control numbers of  $f(x) = x \ln x + x + \frac{1}{x} = -\ln x + 1$   
 $f(x) = \ln x + x + \frac{1}{x} = -\ln x + 1$   
 $f(x) = 0 \Rightarrow \ln x + 1 = 0$   
 $x = -\frac{1}{2}$ 

Find critical numbers:  

$$f'(x) = lnx + x \cdot \frac{1}{x} = lnx + 1$$
 Adding just a few  
 $nords clarifies
 $nords clarifies$ 
 $nords clarifies
 $nords clarifies$ 
 $nords clarifies
 $nords clarifies$ 
 $nords clarifies$ 
 $nords clarifies$ 
 $nords clarifies$ 
 $nords clarifies$ 
 $nords clarifies$ 
 $n$$ 

(5 pts each)

(a) 
$$\int e^{x} \sqrt{2e^{x}-1} dx$$
  
 $U = 2e^{x}-1$   
 $du = 2e^{x}dx$   
 $\int e^{x} \sqrt{2e^{x}-1} dx = \frac{1}{2} \int u^{1/2} du$   
 $= \frac{1}{2} \frac{2}{3} u^{3/2} + c$   
 $= \frac{1}{3} (2e^{x}-1)^{3/2} + c$   
 $= \frac{1}{3} (2e^{x}-1)^{3/2} + c$   
 $= \frac{1}{3} (2e^{x}-1)^{3/2} + c$   
 $= \frac{3}{2} \int \frac{1}{x^{1/4x^{2}-4}} dx$   
 $= \frac{3}{2} \int \frac{1}{x^{1/4x^{2}-4}} dx$   
 $= \frac{3}{2} \int \frac{1}{x^{1/4x^{2}-4}} dx$   
 $= \frac{3}{2} \sec^{-1}x + c$   
Can check indefinik integrals by differentiating



(16) Find each of the following limits. Calculus steps must be shown and correct notation must be used: (4 pts each)

(a) 
$$\lim_{x \to 0} \frac{\sin x - x}{x^3}$$
 (b) should not be used with  
Apply Littospitals rule  
=  $\lim_{x \to 0} \frac{\cos x - i}{3x^2}$  (c) (c)  
 $\lim_{x \to 0} \frac{-\sin x}{3x^2}$  (c) (c)  
 $\lim_{x \to 0} \frac{-\sin x}{6x}$  (c)  
 $\lim_{x \to 0} \frac{-\cos x}{6x} = -\frac{1}{6}$   
Written  
of even step

(16 cont'd)  
(b) 
$$\lim_{x\to 0^+} (x^2 \ln x)$$
 "aao"  
 $= \lim_{X\to 0^+} \frac{\ln x}{\sqrt{x^2}}$  "aao"  
 $\frac{1}{\sqrt{x^2}} \frac{\ln x}{\sqrt{x^2}}$  "aao"  
 $\frac{1}{\sqrt{x^2}} \frac{1}{\sqrt{x^2}} \frac{1}{\sqrt{x^2}}$ 

(c) 
$$\lim_{x \to 0^{\circ}} x^{\sin x} = \lim_{x \to 0^{\circ}} \sum_{x \to 0^{\circ}} 2ix 2nx$$

$$= e^{ix \to 0^{\circ}} \sum_{x \to 0^{\circ}} 2ix 2nx \sum_{x \to 0^{\circ}} \lim_{x \to 0^{\circ}} 2inx 2nx \sum_{x \to 0^{\circ}} \frac{1}{2inx}$$

$$= e^{ix} \sum_{x \to 0^{\circ}} \frac{1}{2inx}$$

$$= \lim_{x \to 0^{\circ}} \frac{1}{2inx}$$